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figure. How does the paper looks
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D)4

2) Complete the sentence by choosing the correct oplion:

In formatting an e-malil, care should be taken that
e T B

A) the reference number is mentioned
B) the original message is attached

C) the enitire message is not written in capital letters
D) there are no attachments

3) What kind of a phrase is the underlined part of the

sentence? The diamond is shining brightly, that everyone is
mesmerized by it.

A) Adverb Phrase
B) Adjective Phrase:
C) Noun Phrase

D) Verb Phrase

4) Choose the correct word substitute for the fs;’llgwinr-‘gr
sentence: One who engages in an ar, sclence, study,
sport for pleasure rather than payment

A) amateur

B) dramatist

C) provocateur
D) Professional-

5) As per the Jammu and Kashmir Reorganisation Adt
2019, the Union territory of Ladakh comprises of which of

the following territories of the Stale of Jammu and
Kashmir?

A) Kargil and Leh districts «

B) Doda and Kathua districts
C) Ramban and Reasi districts
D) Leh and Poonch districts

6) Which of the following options is a web browser to

accass the internet?

A) Microsoft Word -
B) Google Chrome
C) Adobe Reader
D) TeamViewer

7) Which of the following is NOT a cause for the loss
of biodiversity in general?

A) Co-exinction

B) Alien spacies invasions-
C) Over exploitation

D) Reforestation

8) To control the operations of a computer which of the
following software is designed?

A) Application
B) System-~
C) Utility

D) User

i Group Captain)
The Wing Commander (now G
?\)bhlnandan Varthaman ;vaslz%ﬁrd?; \::J'uwwhlmﬁng d:\Ln thg
allantry awaras s
{lgﬂ:;:ml gF-16 ugghter aircraft during @erial combat in

February, 20187

A) Kirti Chakra

B) Ashoka Chakra

C) Vir Chakra

) Param Vir Chakie:

/
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10) Mohan saves ¥ 30 by getting 5% discount on a article.
What Is the amount of money paid by him?

A) € 680"
B) T 660
C) T 570
D) T 550

11) As a result of the partition under the Mountbatten Plan
of 3rd June, 1947, the membership of the Constituent
Assembly was reduced to

A) 255 members *
B) 387 members
C) 299 members
D) 490 members

12) The Jammu and Kashmir Reorganisation Act, 2019
received assent from the President on;

A) Tth July, 2019

B) 8th September, 2019
C) 9th August, 2018

D) 11th June, 2019

13) A forest of trees and undergrowth plants inhabitated by
animals and rooted in soil containing bacteria and fungi is
an example of

A) Hybrids

B) Biomass

C) Endangered species
D) Biological community -

14) Identify the synonym for the word - imminent

A) important
B) expedient
C) impending
D) unlikely-

15) Which of :
work  plants, the following oplions Includes machinery,

equipmerd, new t
bulldings and Soate S 603 echnology, factories,

s
economy's productive potential? gnet! o Incrense the

A) Fixed Capital

B) Working Capital

C) Capital Productivity
D) Infrastructure +

16) As per Article 55(3) of the Constitution of india, the

President of Indla is elected through whi
processes? gh which of the following

A) Territorial representation
B) Functional representation *
C) Proportional representation
D) Minority representation

17) Which of the following is NOT amongst a three pronged
strategy adopted by Govt. of India to ensure removal of
disparities, elimination of e;cploitaﬁon and 0 prodde
protection 10 disadvantaged groups?

A) Rural Development

B) Social Empowerment -
C) Economic Empowerment
D) Social Justice

18) Who among the following leaders was associated with
the papers ‘Commonweal and ‘New India’ which were used

to popularise the idea of achieving self-govemment for
India?

A) Mrs. Annie Besant
B) Bal Gangadhar Tilak *
C) Gopalkrishna Gokhale
D) Bipin Chandra Pal




carefully and

the tiangle

13) Study the diagram
The reclang e

Here in this diagram
circle represents players.

AR
&

Which numbered space in the diagra
who are also artists only?

A) 1
B) 2
C)5

D)6 -
_//

ment was submitted by

20) Which of the following docu
Government of India before COP21 in Paris

A) Intended Nationally Determined Contribution

B) Climate Change and Determined Nation

C) Collective Contribution and Rejuvenate Nature
D) Nation's Intention and purpose for Revitalization *

21) The Himadri was formed by what type of rocks?

A) Igneous Rocks

B) Sedimentary Rocks

C) Metamorphic Rocks

D) Igneous Rocks and Sedimentary Rocks-

22) In 2021, the Supreme Court of India launched an
_Artlﬁcial Intelligence (Al) based portal through which it
intends to leverage machine learning to deal with the vast
amounts of data received at the time of filing of cases.

Identify the name of this portal.

o) SUPAGE A) not knowing the language
oIRASE B) unfamiliar surroundings *

) LoAK C) not having the right currency =
)) UDAAN - D) not knowing what to order in a restd i

ﬂb‘la cﬂwa"Y (3] u“uw‘"

23) Study the following ¥

Suestions. The table gives the number of people vig)
different malls and the per "
women and children who aré visiting. The lotal numb;m'.
women that visited mall R is o

m
Wn“‘ga distribution m“"u‘lr

TNamesol | Total num

Malls of people
L 6000
N 5600

P 4800

R 4400
[\ 7200

A) 1272

B) 1436

C) 1672 :

D) 1836

—

24) Which of the following oplions is an examg
chemical change? 3

A) Crystallization of salt
B) Evaporation:

C) Burning of coal

D) Meiting of ice

25) The final authority for making laws in Inda ta
make new laws, change existing laws or abolsh e

the

A) Supreme Court:
B) President
C) Prime Minister

D) Pariament
g

26) What would be a barrier to comm
country?

uricaion®®




for the word - }eopmdy 22)

A) gscapade
g) revelry
¢y peril
D) safety
o became the first |ndian woman 1o
ﬁc‘: Oﬁ?‘aa:szgz  Whe e Silver medal &t \he 2021 World
jonships in the 57Kg teg

C)
0 to (7/43) that
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means ha
Which of the following IS

A1
B) 7
C)4

D’)-g—._‘_’-//
plc

blsecled py the Tro

31) Which of the following states IS

of Cancer?

A) West Bengal
B) Odisha
C) Uttar Pradesh

D) Goa

complete the figural series

given in the answer figures will
glven in the probilem figures’?
PROBLEM FIGURES

- @\ O

AHSWER FIGURES

Which of the figures

SIS
c)C e

D)o
L
war the life of King Ashoka. \n which '

33) Kalinga changed
of India is Kaling2 \ocated?

modermn siate

A) Odisha
B) Rajasthan *

c) Punjab

35) In September 2021, the

asset managemert
the National Asset Reco

\o clean up b

A) \ndia In
B) National Debt R
C) India Debt Resol

D) State Debt




of art was o
of ancie”
the rU[E

26) Gandhara school
art n the history

developed during
dynasties in india?

A) Kushana dynasty

B) Satavahana dynasty

C) Maurya dynasty -

D) Gupta dynasty
e

e following politic

petong 1©

—————

al parties

37) Which of th
Kerala?

A) United Democratic Front
B) United Capitalist Front
C) United Soclalist Front

D) United ngrossivM

the price of

: an
38) If T 306 is 5/9 % of the price of a sofﬂ..lh

the sofa is

A) T 55080
B) ¥ 64560 -
C) % 5580
D) ¥ 75840

___—____._.-——

39) In October 2021, Prime Minister Narendr@ Modi

launched the second phase of Swachh Bharat Misslon-

Urban (SBM-U) and Atal Mission for Rejuvenation and

Urban Transformation (AMRUT), missions. These have

gfelﬂr:_’ Idesigned to realise the aspiration of making the cities
naia

A) Pollution Free and Home Secure *
B) Slum Free and Food Secure

C) Garbage Free and Water Secure
D) Crime Free and Food Secure

40) How can barriers created by refutations and arguments

be resolved?

A) listening to the views of the other*
i y ct
B) trying to prove oné s own views are corré
C) setting up the sender or receiver ata higher position

D) stating the contradictions

The Human DB\ra\upn\am “‘d“h

a1
‘ ) I

which one of the following components?

A) Ratio of Medical Doctors par 100 peopls j,
g) The Birth and Life Expectancy . b
C) The Students graduating from Pta-PrlmmYs’

D) The Infant mortality rate “M""l
Diarrhea e Pmm"“’h
L

——

42) The Constitution of India guarantee
goclal injustice and all different forms of eip? %
of the I'ouowlng is an INCORRECT option M \
protective legislations acted by respective guysm%h

A) Scheduled Tribes and Other Trad
Dwellers (Recognition of Forest Rights) Ag . %

B) Scheduled Castes and Scheduled Tribe
of Economic offenses against tribal peopl)

C) The Protection of Civil Rights Act, 1955 .

D) Scheduled Casles and Scheduled Tribeg
of Atrocities) Act, 1989

ki
Preg

—
43) Where is the Karakoram range localed?

A) Arunachal Pradesh

B) Northern Parts of Jammu & Kashmir .
C) Uttar Pradesh

D) North eastern part of Sikkim

the following when added bme

44) Which of
its surface tension?

usually increases

A) Detergent

B) Sodium chioride
C) Kerosene oil
D) Phenyl

L aaeae

mafkwm',

45) Which of the following
offects to a web page?

A) XML

B) DHTML
C)C++*

D) C Languag®




46) Imagin
agine your parents are Planning to build a hoyse

‘30;1;20“11. You would suggest thmt landforms. 1n which

Wh €m 10 build a hoyse and

3 A) Mountain, because |t

_' it it Is thinly poputated and cold
Y 3 B) Plateau, because it Is

ctugcpd fich In minerals and at high

1 C) Desert, because it Is very h
: B et ry hot during the day and cold
D) Plain, because of
) o use of its pleasant climate throughout the

. 47) Identify the national leader who tried
R 1o arouse political
| 8 ﬁc;nms%lg:ser::s.oﬁkin“ma ngane;m P 'hmugh e
¢ e 'Kesarl' and 'Ma v '
| & freedom struggle. (SRS Kirnce's

A) Gopal Krishna Gokhale
B) Bal Gangadhar Tilak
C) Aurobindo Ghosh-

D) Subash Chandra Bose

48) Which of these can be a barrier to communication?

A) Clear diction

B) Unblased opinion*

C) Use of high-sounding words
D) Good network connection

49) What is the number of bits of an IP address In

PV6 version?

‘Smog Tlo'ﬂﬂl"-. al:l
1.km radius aroun
toj purkty, &% ?{:030 cublc metres of alr

following cities?

D) Deth

ched
oclal reformers proa
ho among the following SOC!
3\1; :;c:ine of ‘One Caste, One Religion and One

A) Narayan Guru

B) Jyotiba Phule

c) Naorojl Furdunji
D) Balak Singh

——

52) In which range of Himalayas, the Mount Everest, the
highest peak of the world is situated?

A) The Siyalik range
B) Nilgiris range
C) The Great Himalayas*

D) Aravalli Range

53) Identify the Antonym for the word - disparity

A) visibility -
B) vulgarity
C) humility

D) similarity

54) As of 2021, the Jammu and Kashmir Reorganisation
Act, 2019, consists of:

A) 103 Sections and 5 Schedules
B) 105 Sections and 7 Schedules +
C) 107 Sections and 7 Schedules
D) 107 Sections and 5 Schedules

55) As per the Jammu and Kashmir Reorganisation Act,
2019, the total number of members in the Legislative
ﬁsembiy of Union territory of Jammu and Kashmir shall

A) 90

B) 97

C) 115 .
D) 107




Tﬁ\ V".’i:k:h one of the following sub
In cold countries to melt ice accumu
during winter?

A) Salt - .
B) Urea

C) Boric Acid -+ .

D) Hydrogen Peroxide

57) Hitesh started walking from his home. F
straight from his home and took 8 loft wrn, He then
for some more distance and took 8 right turn.
walked some distance and took a left . Ifh ‘h
the North direction at the end, then In which direction did he

start walking initially?

A) East

B) West -

C) North

D) South
__-_——__.-—-__-"-
for the given statoments.

5i8) Choose the CORRECT option
(i) Bara-lacha Pass is a high mountain pass in the
Ghats mountain range.

Weslem

(i) Bara-lacha Pass connects Lahaul district in Himachal
Pradesh to Leh district in Ladakh.

A) Statement (i) is True and (ii) is False
B) Statement (i) is False and (ii) is True -
C) Both the statements (i) and (ii) are True
D) Both the statements (i) and (ii) are False

59) Different countries are classified at different levels of
the following criteria

development. On which  of
are countries classified as developed countries?

A) High per capita income *
B) High level of unemployment
C) High incidence rate of poverty

D) Low standard of living

60) Alex wh
degrees in
degrees in
he facing now?

1 directio
o was facing the Wes N e 44

the clockwise
g direction. Which direction
Ao

the antl-clockwis

A) North

B) South *

C) North-East
D) South-West~

—— __——--"_'——-—-—__k\

61) Read the following statenents  and choggg
CORRECT answer. the 3

(i) GOP Is a specific measure of economic Welfarg ‘l

does "NOT' include aspects like leisure fime, envir
quality, freedom, social justce or gender “Wui :

(i) Per Capita income includes and also indicates the
of Income equality among people. e

A) (1) s True and (il) is False
B) () is False and (i) Is True -
C) (i) is True and (i) is True
D) (i) is False and (i) is False

——
—

62) As per the Jammu and Kashmir Reorganisaion k.
2019, how many women representaives can be nomm
\o the Legislative Assembly of the Union termitory of Jam

and

A)2-
B) 3
c)4
D)6

term Biomagnification refers 1o

A) increase in the concentration of i
|utant as they pass through food
B) group of individuals of the samé &

community
C) number of births dul
D interspecific interaction petween
) one popU'IﬂﬂQﬂ adversﬁlnﬁemﬂ“

63) The

1

fing @ given ﬂ""n:;‘;, w4 !

., A e

B b e
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A

: 1 folloWing options is NO
\ w-]m:‘,'t 0‘ the * T an
A 5 m‘pomﬁm{an eoosystem? eXample of
69) ¥
d. h“ .t"'o‘

'M;!J(ﬂ"n‘f
2 A e3igned 1y ‘“:tl';?':\\.;:; ;,,', el L
B) sofl A) Narcotes ¢ P ;&:::?ﬁmw Ureaty
ight B'} H Oy . a1 Y
c) 5Unhgh o BZardous Wasis o,
D) Fung] j D} Ozone Lﬂy‘" P‘mbl?ml
// ) Y . Pm““c‘ixhhm
i -]
A list of all the central laws made applicable to the 70) Uistening is
BS)I " Terrtory © mu and Kashmir 1s provided under A)
:;;211 gchedule of the Jammu and Kashmir Reorganisation 2 hn acCurale perception of what
act, 20197 Z Saing sounds 1% Deing commuricaied
1 ) responding 1o 8 mes:
edule D) soundwaves re e
) Second SchedV reaching the ear
B) Third schedule”
¢) Fourth Schedule 71) Ozone |
) Fitn Schedul® ) Ozons s 8 9e8 mace 1 o
A) four oxygen aloms
/ B) two oxygen atoms »
g6) (dentify the synonym for the word - acimony C) three oxygen 2loms
D) five oxygen atoms
A) rancor
B) cvility
C) matrimony - 72)  you 9° 1o Northem of Kamataka and
D) obstinacy-* Maharashtra, you will see lots of cotion plants. What is the
reason for
i plack soll of the Deccan
§7) River Godavari originates (rom which of the followind A mug_"’“ wel in the
states in India? 8) The plateau receives 8 1ot of rainfall and
requires @ Jot of labour _
A) Maharashtra C) M athh‘ra and Kamataka expenenOB hot climale
C) Andhra Pradesh clothes _
D) Telangana. = D) Deccan plateau has more number of cottor fechOtes
tion
?mtﬂm of the following statements IS FALSE in reld 15) EVs are used 0 indian General and S5 Electior
on-Cooperation Movement? by voters \o cast their vote. EVMis an acronym for
use
M memmm ::kedozi o foresh GOOds i A) Electrical Voting Mechanism
e : ; 2
B) fe gooas - caleaﬂd khadl B) Election Voting Machine
m:l"'”‘“ popularized on @ large S“< C) Elected Voting Member
D) Electron® Voting Machin®

%mdmmmmmnmu_ndus'm
;i I_Ilwm: of harmony between the HIN :

nd reven’ 8o







.";l’:il S W s B
Al L) uuu“.‘_are?

1 the computer 18NGUAGES Bre very gon
M roduct crested UsNg these languages

N hawe.
- a 'n\.l!a a
goftware

L] qﬂ‘h!d as
a inasnt create any noise d
 programs G0es st 8@ during exec
) Srrﬂl;e disk drives which is part of iiardw:?n:g?i‘tl?n'
chtWﬂre S
ter software ¢an be changed easily by user
e; thelr mquiﬂ)!lleﬂt and hence the term se?);
pearing init*
| Most of the develop?rs‘ are gc;tl In nature. Due to this
reason the term soft Is tagged in
ihe product developed

e —

at will happen o data in RAM (Random Access
iﬂm\;’g) when power goes off and computer shuts down?

':1 pata is stored permanently in RAM and the data will
a g not get erased from the memory

| p)Datais etrieved from backup registers when power s
‘\ restored and activity resumes normally

' Memory is lost when
ta stored In Random ACCesSS
{8 l;gwer goes off and it will have 10 be recreated

i fte (OR
I 1a is recovered from Disaster Recovery S
’ Ei?e) and operation is continued with litle disturbance

R

indi i ian rivers are facing @
. ) The indigenous catfishes 10 Ind_lan riv

lhgeat of extinction because of which reason among the
glowing options?

A) Coextinction

B) Alien species invasion

C)Habitat losS «

D) Over exploitation /

¥)The objective of Social D«au\.ralc.ﬂ"'f""’,;,t Goals
Weher different dimensions known pe
“I“_“bining 3ps. Which of the following 8@

e Bottom Line of SDGs?

| ?;\:\ee.Person. Position

| o ovess. Posshillles, Profit *
b)“‘%. Pricing, Product

L, Profit, People

f\} U'l!'ln-.) We ™
{
B‘} UB\I’“\) \h i

- “ 1]
m\-m\'m. 9ol 1
Mt

SOt
O

L+ Ao

M
*dlum 1o SoOmmyn
-

C) Dlsturbgng, 8 inguggy, o
| ,

D) The e N thy Channe ol com

- “‘u“\‘;ahﬁrx

\

Caalyy Ay

Q mﬁ'&ﬁnqe. P W-N.mq e

—

e nengeg Meéaning of

®6) Chg D s o
s a1

m‘:‘lhane ‘h x Uk fdaﬁ

stands for- al I8 uged for v"“'-id‘- & m

aink
h ¥ com
et in geners), Hp;:f%rﬁa
A) Complex Nitrous Gag
B) Certified National Gas
C) Compressed Nawyral Gage
D) Coal and Nucleotide Gas

87) Which of the following instruments |
the blood pressure of the Human bod\j’*.ﬁ e meeie

A) Endoscope
B) Thermometer

\ The
g8) Identify the part of the sentence thal has an ermor.
do)glpoumedhmeﬂuefwhanhemdmmnmy.

A) The dog pounced
B) in the thief*

C) when he tried

D) tried to run away

89) The PECL S’;Rassmed 2  Variant oyt
s :

nﬂm&d as.
l\t;:lorln:i Health Organization IS

A) Delta plus
g) Gamma
¢) Omicron*
p) Alpha




—

a0} Which one of the following is a standard mail protocol
uged o receive emalls from @ ramote serverto a focal
emall client?

A) SMI

B) POP3
C) SNMP
D) UDP *

o ———

91) The Ministry of Labour & Employment launched lnd{l)r;
first centralised database of unorganised workers in 2 3
which will be helpful in delivering various soclal 30%::“:
schemes being implemented by the Central an
Governments. Identify the name of this portal.

A) ePARISHRAM
B) eUDYAM

C) eSHRAM®

D) ePRAYAS

e —

92) Which of the following is an online dicussio: ‘gf';l:;
where people can join a group and post message
group?

A) Exit polls
B) Photos and films
C) Forums *

D) Editorials
e

93) Choose the best option to complete the sentence.

used today

Most of the communication methods
are ;

A) tachnology-based :
B) manually operated
C) centralized

D) time-sensitive

P

Constitution

94) The .t Assembly of India o

Constitue
dates?

A) Nov 26,1949 °
g) Dec 26, 1950

D) Nov 26, 1947

—

95) The Jammu and Kashmir Reorganisalion Act, 201y
has inroduced certaln changes in The Stales' and Ty,
Unlon Territories' sections of the Constitution. According),

which of the following Schedules of the Constitution of \ndiia
has been amended?

A) Firs\ Schedule
B) Second Schedule
C) Third Schedule »
D) Fifth Schedule

T ——

96) What kind of a phrase is the underined par of ing

sentence? The glass was full of watet when it slipped from
his hands,

A) Verb Phrase

B) Adverb Phrase

C) Prepositional Phrase
D) Adjective Phrase

97) Select one of the following four Cgpﬁms that will make
mezm;:aitmaaogousmma 1st pair given.

345: 122 179:2

A) 14 -
B) 15
C) 16
D) 17

—

i when e
98) Which of the following types of rainfall occurs

air mass encounters

a mountain and the 8l 8




a1 Whitch

R Y

A} Bridge - direw"g
Gi Firewsl

C) Raouters

D) Huly >

100) |fx:y\

=1:3, then the ratio (7x1+3xy);(2xy+yz) Is
A)10:3
B)16:5
C)16:7A
D)16; 15

101) What type of food chain exhibits the following way of
transfer of energy in an ecology?

Dead organism — Fungi — Bacteria

A) Producer food chain
B) Parasitic food chain:
C) Saprophytic food chain
D) Predator food chain

402) Whom would you choose as the recipient of a

message?
have access to the information

ot
A) Those who should v Hocted by the message of its

B) Those who will be &
results *

C) Those who have no s2Y

D) Those Who have no res

understanding
CSZV from the

coded number for WN

tter
or Interest In the ma
ponsibllity oF capability of

the
103) What Is
following figure?

Figure:

p) 348267

LETTER: Cﬁmggﬁﬁw

B) 318267

C) 348957

D) 348967 ¢

4 e e

104) As per the Jammu and Kashmir Reorganisation Act,

icle 239
2019, an Administrator will be appointed under ﬁ'ig’m‘{m“
of the Constitution of India for the Union terntory

and Kashmir and he/she shall be designaled as:

A) UT Administrator

B) Lieutenant Governor *
C) Deputy Goyernor

D) Advocate-General

105) Choose correct match of the image that will fill the
blank space

Prodiem Plgwres Answer Figrres
hd oA T4
- o, " L
A) (a)
B) (b)+
C) (c)
D) (d)
106) Complete the sentence with th i
ol e ] € comrect option:
T er Shou]d‘l':hoose his words very carefully in order

A) confuse the receiver
B) create a vague me.
C) avoid ambiguity +

D) complicate the message

Ssage

a com
Puter's Capabilities, ag p

! installed to
'mm"‘""ﬂ Sraphics js called Stiance

Bfeasing memm-y or
A Writing tablet
B) keyboarg

CJ ex]}ansim boﬂ_l‘d o
D) Nic Controllgr.,
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2 0 wer
108) Directions: Read the following statements and ans

the questions given below:

\ne daughte’

A is the Father of B, but B is not his son. Cls
H is the son ©

of B, D is the wife of A. E Is the brother of B,
E. F is the wife of E, G Is the father of F.

Question: Who Is the Sister in law of B?

A) H
B)F*
C)D
D)C

———

:09) The period of transition from childhood and adulthood
S knowﬂ as

A) Maturity »
B) Courtship
C) Adulthood
D) Adolescence

- m—
-

110) Gi '

nurgbe;;f,“l below is a question followed by 2 stalements

answer the and‘n_ Choose the statement(s) required 10
question by selecting a relevant option.

Quastion:
tion: What is the length of the line segment AC?
Statements:

I. Length of line segment AB is 10 cms

Il. Length of line segment BC is 10 cms

A) Statement (1) ALONE is sufficie
nt, but statement ]
ALONE is NOT sufficient W

B) Statement (ll) ALONE is sufficient, but statement (
ALONE is NOT sufficlent

C) BOTH statements TOGETHER are sufficlent, but
NEITHER statement ALONE ls sufficlent

D) Statements (1) and (Il) TOGETHER are NOT sufficlent *

Acco mu and Kashmir Reorganisation
s Sl e created without 8 Legislature

Act, 2019, the Union Territory
is:

A) Ladakh 3
g) Jammu and Kashmir*
C) Jammu+

p) Kargil

§ il
jght of 29 kids 18 24 kg If the Wtitlutl:
b iavieré;gga‘;t ti\gn the gverad® waight increaaes By
of a man |s i ¢ ok
2 kg. The weight of the man 15

A) 50 kg *
B) 75 kg

C) 76 kg
D) B4 kg

e o ————
_'__,_.._-——l——-'_"'__
wing refers to @ web address wh

113) Which oL e Jeo -t over the internet?

uniquely identifies an obje

A) DNS

B) URL

C) HOST

D) IP Address »

s e

ons is implicit in t

114) Which of the following assumptl
slatement given pelow?

Statement: The dietician ad vised-"Eat nealthy & avoid

{ood to stay fit”

food 1sn'l healthy.

moption (1): Junk
Aoy o thy food habits prevert 3 persot

Assumption (11): Heal
many diseases.

A) Only Assumption | is implicit
B) Only Assumption 1l is implicit
C) Neither | nor 1l is implicit

D) Both | & |l are implicit *




Conclusions:

1) All hunters are lions

{l) Some hunters are lions
11l) All lions are hunters

A) Only i follows

B8) Only i follows *
C) Both | and lll follow
D) Both Il and Il follow

memzomlnuiestosin the
116) Priya leaves her minutes to reach Anjalls house.
evening and %h another 10 minutes and leave

C) 7:10 PM v

D) 7:20 PM _
sions of the Jammu and Kashmir

P"J" o ch Aricle of Indian
117) ”1::;9:‘ BN‘" bﬂ?:um“g}: territory of Jammu and
n

R&ngaw is ’F’f"“‘:a

e e

;;Bj Study the piacharts carefully to answer the QUES"SM'
d ® Number of femake employees working in HR an b

SPariment together is x percent of the total numbar
empioyees in the company. What is 'x'?

M‘Iﬂl‘.dwh’,m
working in Company X

HR B
&% | Frans
e

percentage ol Female [mploryres
weorking in Company X

Total number of
Female Employees =3200

Total number of
Employees = 5000

A) 23.68%
B) 25.72%"
C) 33.22%
D) 37.11%

119) Choose the correct word substitute for the following
sentence: The branch of Physics concemed with the
properties of sound.

A) Rhythm *
B) Resonance
C) Acouslics
D) Announce

120) The British Parliament took away the power to govem

India from East India Company after the Revolt of 1857.
The title of the Empress of India was assumed by:

A) Queen Margaret
B) Queen Elizabeth
C) Queen Isabella

D) Queen Victoria



